
NIST 
Bldg. 230, RM 113 
Gnitn<?r!;tlurg. MD 20899 

T<>l No. (301) 975-2613 
Fa>< (30Jl 258-92!0 

Not<>s: 
All diMensions noMinol 
DiMensions in inchej? 
No't 'to scalE> · 

~--------------35--------------~ c32 
Cover Plate> !1-------!9 

I 
i 
i 

Type E Sf'ction 

i 
i 
i 
i 
i 
i 
i 
I 

I I 
i 

n i 
I 
i 

Typ<> D Se>~tion r ______ _1_ ___ +6----------------------1-----------
23 

Type C Section 

13 

Uppe>r Se>ction 

13 

_l___~=L=o=w=er==S=e=c=t=io=n~---~---rF=========~~ 

~ = 

CoMbustion Air 

lXI lXI 
Vane> Cascade> 

Air PlenuM 

II II 
Fuel Supply LinE' 

Fig. 1. Spro.y CoMbustor Enclosure CScheMotic 

i 
i 
i 
i 
i 
i 
i 

30 

12 

-t 
10 

__l 



i 
_.---,--~---------~-, 

_.,.... . ..-·,.,.,.,. -,_, 
././ ' ....... 

/ ~ 
/ ~ 

/
. ~ 

'" 
/ ' / \ 

i \ 
I \ 

I \ 
I \ 
i \ 

I I - 9 3/4 \ 
i i \ 
i i \ 

--!---------------------- ------·-f-------- ·-------·-·----------~---
\\ i i 

i i \ i 
\ I 
\ I 

' I \ I 
\ i 
\ I 

\ / 
~ / 
" / ·,., / 

' / ' ./ 
-................... /.-""'" 

-~ I _ _..,-
---~------.L---------~ 

i 

Plon Cover 

Circulo.r plo.te, 3/8 thick, 32 holes for 1/4 bolts, equi-spo.ced on 33,5bc< 

1--------------35---------------J 

Notes: 
Mo teriols: SS316 
DiMensions in inches 
Not to Scale 
equispocecl bot t holes 

BoitoM Plaie of ChaMber 

NIST Sproy CoMbustor Enclosure 
Dr g. No. SCE3/3j BottoM Plo te of ChaMber 

_[3/8 

I 



5 Sensor ports C1/2 swugelock fittings)j 
2.6 inches aport, equally spaced, aligned 
on o. vertical line, with one o.t the center. 

/)' 

port E (180 deg) 

Por-t D C 

17.75 

17.75 

-,, 
' ., ·, ., 

·, ., ., ., 
·,., 45 

·,, 
' ·,, 

/ i\ 
/ . \ 

/·~·5 : \ 17.25 
/ ! \ 

/ I :· \ 
/ ! '>-. / '*·--·-7\ / I \ 

// i \ 
/ i \ 

i \ . \ 
! \ 

Optical Pod C (~ 

I 
i tical Port B CJO deg> 
i 

i Optical Port A (0 deg) 

5 Sensor ports 0/2 swagelock fittings); 
2.6 inches aport, equo.lly spo.cecl, aligned 
on o. vertico.l line; with one at the center. 

Plo.n view 

I tb TT 
13 T -----------·-----·-----rn ---------------------------- __ 6 7 li . li 

~-1-~-----17' 7 5 __ __,.,-tl 
Flange, 35 DD; 3/8 thick, 32 holes for 1/4 bolts on 33.5bcd 

Lower Section 
TABLE 

Dptico.l Port 
A CO deg) 
B (30 deg) 
C (90 deg> 
D 020 deg> 
E 080 deg> 

dia 
6 

10 
6 

10 
6 

NIST Spray CoMbustor Enclosure 
Drg. No. SCE2/l; Lower Section CType A Se 
Notes: 
Material: SS316 
DiMensions in inches 
Not to scale 
Angles not shown accuro. tely 
For flange specs see Drg. SCE2/2 



II I 

I 
~·· 

16 holes for #8-32 socket head cap screws on 6.5 bed 

I 5.5 ID _____. 

0.06 0.25 

~ I • I ill 
I 6.06 ID .. -.1 

I 

t 
70D ~I 

6-Inch Window Housing Body 
Notes: 
Dimensions in inches 
NOT TO SCALE 
MATERIAL: SS304 
No. of Pieces: 3 



5 Sensor ports Cl/2 swagelock fittings); 
2.6 inches apart, equally spaced, aligned 
on o. vertical line; with one at the center. 

[ 
17 

17 

I 
5 Sensor ports Cl/2 swo.gelock fittings); 
2.6 inches o.po.r t, equally spo. ceol, o.ligneol 
on o. vertical line; with one o.t the center. 

Plan view 

Pod D C130deg) 

nDpticol Pori: C c 

- --10 11.5 

1_1 
Pori: B (45 deg) 

Flo.nge, 35 DD; 3/8 thick, 32 holes for 1/4 bolts on 33.5bccl 
Flo.nge, 11.5 DD; 1/4 thick, 16 holes for 1/4 olio bolts on 10.75bcd 

TABLE 

Dp-tico.l Port 
A (0 deg) 
B C45 oleg) 
C (90 cleg) 
D 030 deg) 
E 080 deg) 

oli (). 
10 
10 
10 

10 
10 

Upper Section 
Notes: 
Material: SS316 
AU Optical Ports identical in size ancl stc 
DiMensions in inches 
No-t -to Sco.le 
Angles not shown accurately 

NIST Spray CoMbustor Enclosure 
Drg. No. SCE3/l; Upper Section <Type B S 



8 tapped holes for #4-40 socket head cap screws on 10.625 bed; 1/8 deep in the bottom 

' 

i9.5 ID ~ 1 ... 

0.06 
I 

I t . ll i 1·1 o.!s_ 11: II 

1 .. 11• 10.12 ID ~~ J t 
11.125 OD 

10-Inch Window Housing Body 

Notes: 
Dimensions in inches 
NOT TO SCALE 
MATERIAL: SS304 
Number of pieces: 3 



Cover Flo.nge, 11.5 DD, 3/8 thick, 16 holes for 1/4 bolts on 10.75bcc 

Cover Plo. te for 10 dio. Dptico.l Por-t 

Mo. terio.l: AluMinuM 
Required: 8 pieces 

Cover Plo.te, 7.5 DD, 3/8 thick, 16 holes for 1/4 bolts on 6.75bcd 

_1_ 

3/Bj ~7.5-----j 

Cover Plo te for 6 dio Dpticol Port 

Notes: 
DiMensions in inches 
Not to Sco.le 
equispoced bolt holes 

Ma teriol: AluMinuM 
Required: 3 pieces 

Bolt hole po. tterns Must MO. tch bolt hole po. -tterns on interfacing 
optico.l port flo.nges 

NIST Spray CoMbustor Enclosure 
Dr g. No. SCE2/3! Cover Plo. tes for Dptico.l Ports 



'w'oll thickness ·, -, ·, 
/ 

/ 
/ ·, ., / 

/ 
/ 

,/' 

·,, 45 

' 

/ 
/ 

/ 

·, ·,, 
/ 

/ 
/45 

/ 
/ 

/ 
/ 

,/ 

., ., 
' -, ·, ·, 

8 sensor ports, aligned in a vertical or ongel"'lent 
1/2 swogelock (weld) fit-tings 
2.6 aport, starting one at 1.3 fro!"'l bottol"'l flange 

., 
·, 
'· 

1 
-16 19 

l 

1
1-.. o----------- 35 --------------1•1 Flange, 35 DD, 3/8 thick, 

32 holes for 1/4 bolts on 

I 33.5bccl 
~ .. ~--------------32--------------~~ 

23 

10 

L ---------------------r-------------------

1 

I 

! 
I 
I 
i 
! 

~-------19--------~ 

Type C Section 

Notes: 
Materials: SS316 
Dir1ensions in inches 
Not to Scole 
equispoced bolt holes 

1 
16 

l 

Sl"'looi:h surfoce wi-thout bul"'lps to focilitote inserting of sleeves 
Flanges to be welded carefully to !"'lointain bolt hole olignl"'lent 

19 

Flange, 19 DD, 3/8 thick, 
16 holes for 1/4 bolts 
on 17.5bccl 

Need -to achieve the osser1bly os indico.ted in the sketches CDr-g. No. SCE1/l ond SCE1/2) 

NIST Sproy CoMbustor Enclosure 
Drg. No. SCE4/1; Type C Sec-tion 



Flange, 19 DD, 3/8 thick, 16 holes for 1/4 bolts on 17.5bcd 

~-----19 -----~ 

I 
I 

wall thickness 0.12 

19 16 ----------------------~----------- ~ 
I 

J .-ll 

I 
' 
I 
' 
I 
I 
I 

I 
i 

1~... ~ 14 ~-----.-J-1 

22 

T 
10 

Flange, 19 DD, 3/8 thick, 16 holes for 1/4 bolts on 17.5bcd 

Notes: 
Mo terial: SS316 
DiMensions in inches 
Not to Scale 
equispaced bolt holes 

Type D Section 

SMooth surfaces without buMps to facilito te inserting of slee\ 
Flonges to be welded corefully to Mointoin bolt hole alignMent 
Need to achieve the asseMbly os indica ted in the sf.< etches 

CDrg. No. SCE1/1 and SCE1/2) 

NIST Spray CoMbustor Enclosure 
Drg. No. SCE4/2i Type D Section 



To-to.l of 11 Sensor por-ts ( 3/4 swo.gelock fi-t-tings ) o.rro.nged ro.dio.lly, 
2.5 inches o.po.r-t, one o.-t -the cen-ter. 

To-to.l of 11 Sensor por-ts ( 3/4 swo.gelock fittings ) o.rro.nged ro.dio.lly, 
2.5 inches o.po.r-t, one o.-t -the cen-ter. 

Pl0-n view 

~8 I 

I========~~=======:=:::::) 

~----------- 35 --------------1-i 

3/8 -thick Flange, 35 DD, 32 holes for 1/4 dio. bol-ts on 33.5bcd 

Top Cover Plo te 

No-tes: 
Mo. -terio.l: 
DiMensions in inches 
No-t to Scale 
equispo.cecl bolt holes 

NIST Spro.y CoMbustor Enclosure 
Dr g. No. SCE4/3J Top Cover Plo. -te 



Flange, 19 DD, 3/8 thick, 16 holes for 1/4 bolts on 17.5bcd 

' ---------r----....___ 
,/ '" 

/ '" / ' 
' ~ 

I \ 
I , 

\ 

/ ! \ 
- --~-----------+------------\---

, ,· I 
\ ' 

\ ! 
\ ,I 
, I 
~ ' '" ' / , I __./ ,_ ' / 

'-----L-----

[3/8 

I If r----------- 1 9 ------------1 

Cover PlQ -te 

No of pieces required: 2 

Notes: 
Material: SS316 
DiMensions in inches 
Not to Scale 
equispaced bolt holes 

NIST Spray Cor~bustor Enclosure 
Drg. No. SCE5/2J Cover Plate 


